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6 ln development?
feasib

and Supply Chain Management.

(08 Marks)
(06 Marks)
(06 Marks)

(08 Marks)
(12 Marks)

f Business

:*sru.
SL

Pffiect7 a. What is Report? the guidelines provided by Planning Commission for
(10 Marks)
(10 Marks)

"r' oR
8 a. What is ERP? Disiuss the importance of ERP to a Company'

b. Explain types o.f Report and methods of Report generation'
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(06 Marks)
(08 Marks)
(06 Marks)

(06 Marks)
(08 Marks)
(06 Marks)

(06 Marks)
(06 Marks)
(08 Marks)

(06 Marks)
(06 Marks)
(08 Marks)

(08 Marks)
(06 Marks)
(06 Marks)

Fifth Semester B.E. Degree Exa
Management and

Time: 3 hrs.

Note: ,4nswer any FIVE full questions, ONEfull

I a. Define Management and

b. Explain the skill set

U.

2a.
b.

c.

3a.
b.

OR
4 a. Explain the stePs the process

b. Explain the
c. What are the used to

5 a. Defrne
b. and

c.

ec.2023lJ^n.2024
for lT lndustry

Max. Marks: 1

question from euch module.

I **mu

'-i1'

S*-

&w
F

preparation ofProject
b. Explain Marketing



Module-S

Establishment.

18CS51

(10 Marks)
(10 Marks)

(02 Marks)
(08 Marks)
(10 Marks)

9 a. Write a short notes on :

D DIC iD NSIC.
b. Discuss on case study of Microsoft

10 a. What do you mean by MSME?
b. List out the characteristics

. litil
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I a.

lVlodule- I

Consicler an ecomrnerce site that rvants to keep purchase recoril litr cach of- its cttslourer.

Descr.ibc l,prv this ca1 bc- clone with cookies. (10 l\larks)

Dcscribe in cictiiil the scrvices provided by DNS rvilh neal diagram. explain lhe resolr"rtion o1'

I)NS c1uer1,by DNS scrver with thc help of iterative melhod. (10litarks)

OR
l)e flrtr: IITfP Explain tr,ith neat cliagramthe Il-fT'P rcqucst and rcsponse tncthod.

(10 Itlarhs)

lllrrslr'atc horv ussr I and user 2 c;ur send and reccivc rnail u,ith the help of SMTP. I'}OP,

II\4AP protocols. (10 i\larks)

Module-2
\\'ith neat diagrani. ciescribe the various lielcls ol't.l[)P segrnetit and with the help of an

exantplc erplain hori, tiDP will contpLlte the clock sLtnr. (101\'larks)

\Vith the hclp ol'liSM cxplain tht: oltcration o1'GBN prolocol" (10 i\larks)

OR
trrpl:iin w'rtli rri:at diagranr. all the tie lcls of a'l'CP scgrncnt (07 i\larlis)

lrxplain the l'bllorvirig rclatecl to I'CP connt-ctiort rt-trtuac,etltetrt:

r) 1'hree rvay hanclshal<e

u) Closing of tlre i-C'P connectiotl. (0Sl'vlarks)

Wntc a uote on pipelrned ltrotocols. (05 .'i'Iarks)

Nloclule-3
\\'illi an cxiurplc explatn clistatrcc vector algorithnr (10 J\'larhs)

l,4ention thc three cliltcrences betrveen clistance vector an link statc;lt"otocols. (03 hlarhs)

Lrrplarn aboril routing table by r-rsing rip protocol in a roLltcr. (07l\'larks)

OR
With arr cxample e.rplain link state algorithrn. (10 l\larks)

l::rplain rvilh neat cliagra:t"t. drt'l-erent hterarchf in OSPF rolltcr. (06 l\larks)

\\'rrte a notc ol't collpat-ison o{'Intcrior Gatervav (lCii}) and Llxtcrior Gateway ([rGP)
(04 i\'larks)

l)l'trlrrCOl

2a

3a.

4

5

lr

h

b

il.

b.

a.

[r.

C.

a.

b

l:xlllain thc r,arLoLrs stages ol'
process tirrp:3 q: ll e:l
\\rrth neat chagratrt, explain D[:S

Module-4
ItSA algorithrtt also shou' tltc ellcryptlon and decryption

lvl = 9. (101\larks)

algorithnr ancl I- ie stel struclttre. (10 l\larks)b

lot'2
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... 3 N4 = 9. (07 NIarks)
(05l\4arks)

keys I( I and I(r are cclual.

C\r ntc-t tt fl i stribr-rt ion N etwo rL<) (07 Marks)
(07 Manks)
(05 Marks)

9 a With ncar diagrarn erplain thc rvorking

b. With ncat diagram. cxplain I-l"fTP

c. Writc a notc on Atrdio arlcl Video

10

a.

b.

C.
(08 i\{arks)

call i:stablishrnent
(10 Marks)
(10 Marks)

2 ol'2

oR.

Wnte a short note o1l l'trew'alls"

Lrxplain Diiflc F{ellman key excharlge prolocol ancl provc

***:t*

b
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i)

ii)
iir)
ir)

professor
professor

Each professor
courses.

b. What is the
to achieve?

c. Discuss the

3 Justiflz the fo
i)
ii)
iil)

i) RvS
ii)RnS
iii) R- s
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(06 Marks)
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Time: 3 hrs.

Note: Answer any FIVE full questions,

I a. List out and discuss the main
from traditional file systems.

b. What is the goal

c. When will the recursive

2 a. A university
courses (
relationship
(assuming

ONE full
I

and

logical and data

that must to be by the

statements:
null values is
must have

entities do own key
results of ns for

of the database approach and how it differs
(10 Marks)

How it is defined at different levels?
rr (05 Marks)

Explaiq it with some examples. (05 Marks)

:

about, professors (identified by a SSN) and

module.

teach multiple courses.
pro must teach all the

(10 Marks)
one is harder

(05 Marks)
(05 Marks)

Which

be used?

OR
information

a course ID).
the teacher and

'of the following situations concerns the
Draw an ER diagram for each situation

constraints
can teach the same over several semesters and each offering must be

question from each

..::::

,"1,,n*r*
: :::::]:]::::::::::::::::::

a.

b. schema R and S.

iv) R>< S

(1-

v)
c. How

R.A: S.C

tA S,,,
9--' lL : 5. 5

does SQL implement
(10 Marks)

the entity integrity constraints of the relational data model?
(04 Marks)

1 of3
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ffi

exactly one
at least one

course.
course

teaches

teaches,:at least one

4
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4 a. How are the OUTER JOIN operations different

l8cs53

JOIN operations?

trational database scheme
(04 Marks)
(10 Marks)

ame

that all of the 'oracle'

'Wipro' along with the city
(06 Marks)

dno)

b. Outline the steps to convert the basic ER
c. Consider the following tables:

Works (Pname, Cname, Salary)
LIVES (Pname, Street, City)
LOCATED-IN (Cname, City)
MANAGER (Pname,

Write the SQL for the
i) Find the names of the
ii) Find the names of

employees
iir) List the

they live
people who work

5 a. Consider database:
SSN, address,

in.
.*,

?

architecture. l

: Person

'i

work,''':'retrieve

ii)
iii)
iv)
v)

Retrieve of all
of all

the project no,
th$ project.

have 2 or
ho do not
work on all controlled by dept. No5

of employees and total salary of the
(10 Marks)
(05 Marks)
(05 Marks)

ofeach
Creates vtew which

b.
c.

'.,,' 
,

o*
6 (06 Marks)

(06 Marks)

iii) Retrieve the names of,employees who do not work on any project.
ir) List the names of all employees who are directly supervised by 'Anil'

available with the sample code.
a. Write the SQL for the following

in 'CSE' department.
who do not have dependents.

2 of3

(08 Marks)

ON
DEPENDENT (ESSN, relationship).
Write the SQL query
i) For each more

project name number of who work

tier

SQL
varl0us classes

c. Consider given in
number of

a'll Explain
b. Explain

examples.

the names of managers

.u T rt"



7a.

b.

c.

8 a. Consider the
Determine
determine

b.

18CS53

OR
for the shema R.

decomposition has lo join property with respect to F. AIso
form each decomposition is in.

D - {Rr,R ,Rr), R, ={A,B, , = {D,E}, R4 = {F, G,H}, R, = {B,F} ,

R, ={D : {(A,B) -+ {C},{A} -+ ),{B} + {F},{F} + {G,H},{D} -+ {I,J}}.

purpose of form.
(08 Marks)

how BCNF differs from and is
3NF. Illustrate with an (06 Marks)

(06 Marks)c. List and narrate the informal for a

9 a. Explain in detail the properties
b. Describe 2 phase techniques
c. State and exp commit

exesrtion.

:!::111 a:1

" :: ,,,,,,, ,"

deSltable

.3ii::a t$

$s

t:*

dkil
,:::::.....:::l::::::

'::::.

(06 Marks)
(10 Marks)
(04 Marks)

(06 Marks)
(06 Marks)

a transaction goes through during
(08 Marks)

a.

b.
c.

10

, "'t',,,,,,,,,

.,,.'iii
**rf,*rl<

3 of3

Module-4
Why should NULLs in a relation be avoided as far Discuss the problem of

(06 Marks)

further. State the
(08 Marks)
(06 Marks)

List
3 phases ofthe

deadlock
diagram
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Max. Marks: 100

ch module.

(08 Marks)

(08 Marks)

Fifth Semester B.E. Degree Examina 20231Jan.2024
Autom ata Theory and putability

Time: 3 hrs

1 a. Construct the DFSM for ,:'
subString(,) L: {w We

(ii) L {w We aborba)
b. Minimize the given F ) DFSM by appl

Note: Answer any FIVE full questions, cltoosirtg ONE full
't,.

question from ea
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2 a. By up&lwffi

"'W:*'

ndfsm to dfsm

on strrngs

J

OR
the given F

0

L.d;*lll

iruW6l.',u

I

c Explain the
oi ,,,*,,,.

opeiatiohs
1 (b)

L

(04 Marks)

) DFSM to its equivalent DFSM.
(10 N{arhs)

L+-ail

o

(,

o

€

iI-ti$i

Fig. Q2 (a)
b. Construct DFSM for the language,

L = {W lW e {a,b} where W is having even number of a's and odd number of b's,t
(05 Marks)

c. Explain the difference between DFSM and NDFSM with example. (05 Marks)

1of 3
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3a.
b.

4a

b

c. Draw a

(')

(ir)

5 a. Obtain a

b.

,

context free

regular

),i,j,k>o
CNF

- t q,r!'

,tir.

Grammar

ln>0, 0

1=

FSM for the given below
(0+l).o10+l)-o

ab(a + b). a

itu

, $"&

'$s".

18CS54

(06 Marks)

(06 Marks)

(04 Marks)

(,) L'= {o"t'(ir) L - {o'l'zo
Convert the following

*,-.,:4:1i:14i.

R:{A-+a
A-+ aB

A-+ BaC
A-+ BbC

lcc

c. Design a

show the

the start

,o accept
) symbql

the language L = {u'o' l, > o},

(06 Marks)

f- = {WCW* I W . {u,b}. } anA draw the transition diagram
,rW:aabcbaa. (l0Marks)

(06 Marks)

draw the transition diagram and

(10 N{arks)

OR
Prove that the given grammar is ambiguous : S -+ (S) | S S le6 a. What is ambiguous

b. Design a PDA for the Ianguage

and show the string acceptance lo

l,q'}.g,.**r"
2 of3

to construct a

(08 Marks)



Convcrt the following CFG to CNF
R:{S-_>XY

X-+A
A-+ B/a
Y-+bT
T+Y/C

I
I

18CS54

(04 Marks)

the transition diagram and

(10 N{arhs)

accepted bv multitap; 
-lTffi

there exists equivalent DTM
(10 Marks)

of I odd or even length I

acceptance for W ababa. (10 N{arks)

dsss\

#oql:.'

* $hL

-* 
':...\f!j.. .s

a'riri;- d,

#" $*$r'
'*!$'

#q'nh*, 
Y

7 a. Design a Turing Machine to
show the moves made for the

b.D a for the

:aabbcc.
n1'2'ln>0

+ffi6*S

)

b. Explain multitape Turing and prove that
machine is also

8 a. Explain turing

L
Draw

eslgn

=f* ,b where W is a string o

diagram. string

9 (07 Marks)
(06 Marks)
(07 Marks)

(20 Marks)
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Time: 3 hrs.

Note: Answer any FIVE full

1 a. What is variable in pro
example.

b. Write types of
c. Draw flowcharl for

example.

lain rules for

n. Explain types
ladder in python.

declaring variable

function in
Python help of example

b. What variable?
'glo in Python.

c. Dra for while

name. Explain r,vith
(05 N'Iarks)

with examples. (07 Marks)
execution of if-else-staternent with

(08 N{arks)

lain function definition and function cail in
(05 NIarks)

2 a. Write

3

4

5a.

b.

c.

OR
Pyrthon. Exp

of scopes of variable with examples. Explain use of
(07 Marks)

execution of while controlm

Module-3
Explain following file related fun.ti6nr *ittl-oamples open( ), close( ), read( ), readline( ),
readlines( ). (05 N{arks)

What is Shutil module? Explain how it is used for copying, moving and temoving files and

folders in Python. (07 Marks)

With example explain different file opening modes in Pyhon. (08 Marks)

1 of2

ffi$qffiGffi

of
c. Explain

upper( ),

D ec.2023 I J an.2024
using Python

18CS55

,,,,,,,, MoX. Marks: 100

,,,, :"'

ONE fult questionffhm each module.

(07 Marks)

), endswith( ), join( ) and split( ).
(08 Marhs)



OR
6 a. With example explain walking a directory tree in

b. Define a regular expression to extract phone num
Python program to extract phone number.

c. Write a Python program to create zip file and to
appropriate comment lines in the code,

7

8

9

10

18CS55

(05 Marks)
this regular expression write a

(07 Marks)
zip file. Explain these programs with

(08 Marks)

, -r:,;s,it'tt

; i,.",--..,.,r'

,t'

.i,ttryr

;f

2 of}

code
b. Explain object oriented features of Explain

i< {< >k {< {<

;idi*is!
il '''iI i

"i;.iwurp'-

fOr inheritaflcO,;,.1,rrr,ri1ir1r,,r

--rnrt( )-- and --str--
(05 Marks)

methods in Plhon

a.

b.

c.

a.

b,

c.

a.

b,
c.
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3

4

c. ln detail discuss the

5 a. Explain with a
functions

b. Explain the general APls along with syntax

iii) read iv) write v) close.

file supported by IINIX. (06 Marks)

Module-3
memory layout of a C program and briefly discuss the different

allocation. (10 Marks)

.s
i) open .',iil cleate

.i a:r:j il

.",s'
,,-\' y

1 of2

(10 Marks)

silent features system. (08 Marks)



OR
6 a. With a neat block diagram, explain how a C

b. Expiain getrlimit and setrlinit function
c. Define race condition. Writc a 'C'

7

8

2

b.

a.

b.

c.

a.

b.

a.

b

9

10

,, i 'ir

-4M.

tf

,ii 'r" .+

iiI::l

2 of 2

? Write a program
over a pipe.

t.o-,,Spnd
.::::.:::-

data from present to child
(10 Marks)

(10 Marks)

client server
(08 Marks)

(08 Marks)
(04 Marks)

(10 Marks)

(10 Marks)

(10 Marks)

(10 Marks)


